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12.1 1)
—(X2=x0.y2-¥1) (X=X Y2mw1)
Eive AB = (1+4,-2-3)=(5,-5) xox AT = (-2+4,3-3)=(2,0) , ondte
(ABF)=1‘det(E,KF)‘=1|‘_5 5‘|=1|0—1o|=9=5
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121 2)

Eivan

AB=(1-(-2),-3-1)=(3,-4)

Kot

AT =(4-(-2),-1-1)

onote

(6.-2)

3

(ABF)=%‘det(E,A—F)‘=%|‘6

4 1
=2 (-6+24)=9
—2" o (6+24)

121 3)

Etvan
AB=(1-4,-3+2)=(-5,-1)

Kot

AT =(0-(-1),-2-(-3))=(1.)

ondte
(ABF):%‘det(@,A—F)‘ =%|‘_15 _j |=%|—5+]4 =2

121 4)

Etvan
AB=(3-0,0-4)=(3,-4)

Kot

AT =(1-0,1-4) =(1,-3)

omote

(ABF):%‘det(E,AT)‘:;E :§‘|:%|—9+4|=g

12.1  5)
Eivaw AB=(2-3,-1-1)=(-1,-2)
Ka
AT =(4-2,-1-(-1))=(2,0)
onoTE
— -1 -2
(ABF)=%‘det(AB,AF)‘=%|‘2 0‘|:%|_1.0+4|=2
12.1 6)
Elvau
AB=(4—(-5),-2-1)=(9,-3)
Ko
AT =(0-(-5),6-1)=(5,5)
onoTE
N 9 -3
(ABF):%‘det(AB,AF)‘:%l‘S 5‘|:%(9.5+3.5)=30
121 7)

Eivon



AB=(3-2,-1-1)=(1,-2)

Ko

AT =(1-2,0-1)=(-1,-1)

ondte

1 -2

-1 -1

(ABF)z%‘dﬂ(?B,AT‘)‘z?‘ ‘|=%|—1—2|:g

121 8)

Elvau
AB=(2-0,2-0)=(2,2)
Kot

AT =(-5-0,-5-0)=(-5,-5)
omoTE

e

(ABI) = |det(AB, AT =

2 2| 1
‘_5 _5‘ = E\—m—(—lo)\ =0



